$$|(a)|_{q_{1}}^{2} = \frac{2}{\pi} \int_{0}^{\pi} \frac{t}{t} \sin n t dt + \int_{0}^{\pi} \frac{t}{t} \cos n t dt + \int_{0}^{\pi} \frac{t}{t} \sin n t dt + \int_{0}^{\pi} \frac{t}{$$

(2) (a)
$$f(t) = \sin 3t$$
 (already in sine Series form)
(b) $\frac{1}{4} = \frac{2}{17} \int_{0}^{17} \sin(3t) dt$
 $= \frac{2}{17} - \cos(3t) \int_{0}^{17} = \frac{2}{173} \left[-\cos(3t) + 1 \right]$
 $= \frac{4}{317}$
NHO $\frac{1}{4} = \frac{2}{17} \int_{0}^{17} \sin(3t) \frac{\cos(nt)}{3} dt$
 $= \frac{2}{172} \int_{0}^{17} \sin((3+n)t) + \sin((3-n)t) dt$
 $= \frac{2}{172} \int_{0}^{17} \sin((3+n)t) - \cos((3-n)t) dt$
 $= \frac{1}{172} \left[-\frac{1}{3+n} + \frac{1}{3-n} \right]_{0}^{3-n}$
 $= \frac{1}{172} \left[-\frac{1}{3+n} + \frac{1}{3-n} \right]_{0}^{3-n}$

$$\frac{1}{3} = \frac{1}{11} \int_{0}^{11} \sin (6t) dt$$

$$= \frac{1}{11} - \cos (6t) \int_{0}^{11} dt$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11} - \cos (6t) + 1 = 0$$

$$= \frac{1}{11$$